CAMPUS 48 BA 6043000

82

nicht abgebildet / not shown

Motor / Engine

83

84

Schraube 3/8-16x 1.875" ( 1x )
Screw 3/8-16x 1.875 ( Qty.1)

Schraube 3/8-16x 2.50“ ( 2x )
Screw 3/8-16x 2.50 ( Qty.2)

89

86

Schraube ( 4x ) / Screw ( Qty.4 )

nicht abgebildet / not shown

E3-06288A-01



